Y o 7/ 7

Racing Screers

L 4

- RETRO WINDSCREEN FOR -

ID PART

Ref.: 9595

(black colour)

Ref.: 9596

(carbon look)

X

© ALLEN PHILLIPS
N° 2,5
Ne 3 N° 13
@
\J
'I' >
1 person 25 min 3
DESCRIPTION QTY REF.

1 <> Screen 1 9196 F/H/N/WM3
~— ‘,/

2 ‘ /@/r/ ABS fairing 1 9230C/IM3

3 |z \ﬁ\\i%/\/‘\@ Right metal support (R) 1 SOPOR-2P-2-10611
4 | == R Left metal support (L) 1 SOPOR-2P-2-10611
5 €y M4x16 1SO 7380 Allen screw 5 TORNIAI7380_310
6 Silentblock M4 5 SILENBTM4__ 062
7 M4x0,5 Nylon washer 5 ARNV00000000311
8 €y M5x16 1SO 7380 Allen screw 4 TORNI-17380-493
9 @D Silentblock M5 4 SILENBTM5-046/1
10 @ M5x1 Nylon washer 4 ARNV00000000245
11 Qb M5 ISO 7380 Allen screw cap 4 TAPON-------- 85
12 ® @8,5 x B14x6 arrowhead 2 CASQUI------ 208
13 @) DIN 933 M8x40 exagonal screw 2 TORNI-D931---99
14 O 12,5 x4 silicon adhesive spacer 2 TOPE-PA12,7X3,5
15 )"= C Stikers set 1 ADHESI-V2---249

Pg. 1/4



https://www.motorcycleid.com/puig/

m

d

Racing Screers

T

- RETRO WINDSCREEN FOR -

KAWASAKI Z900RSz18z2+

- MOUNTING INSTRUCTIONS -

Pg. 2/4




y -/

8
N

Y
m
\
3}
o)
%

T

- RETRO WINDSCREEN FOR -

KAWASAKI Z900RSg 185

- MOUNTING INSTRUCTIONS -

N

22,

.,\/
—

\

|@

:

\

7

i

Pg.3/4



FPeviey

Racing Screers

- RETRO WINDSCREEN FOR -
KAWASAK| Z900RSE 18,

=
= I = |

If you’re looking for quality motorcycle windshields & fairings, visit our website.


https://www.motorcycleid.com/windshields-fairings.html



